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Question Number : 1 Question Id : 92090622570 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II.
Fill in the blanks in list I with appropriate phrasal verbs in List 11

List I List 11

(A) My Japanese isn’t very good butit  (I) drop out
12 enough to

(B) 1ran ina Marathon last week but (I} show up

[ had to after 15 kilometers.

(C) 1 had gone to meet my friend but (I11) look out
she didn't 2

(I 1 request you to for my sister (IV) get by

when | am away.

Choose the correct answer from the options given below :

(1) (A)-(ID), (B)-(IV), (C)~(ILL), (D)-(T)
(2} (A)-(11), (B)-(11D), (C)-(I), (IN-(IV)
(3)  (A)-(IV), (B)-(I), (C)-(1D), (D)-(I1T)
(4)  (A)-(ID), (B)-(ILT), (C)-(IV), (D)-(1)

Options :

92090689201. 1
92090689202. 2
92090689203. 3
92090689204. 4

Question Number : 1 Question Id : 92090622570 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II.
Fill in the blanks in list I with appropriate phrasal verbs in List 11

List I List 11

(A) My Japanese isn't very good butit  (I) drop out
15 enough to

(BY Iran in a Marathon last week but (I} show up

I had to after 15 kilometers.

(C) 1 had gone to meet my friend but (I11) look out
she didn't ;

(D) 1 request youto for my sister (IV) get by

when | am away.

Choose the correct answer from the options given below :

(1) (A)-(ID), (B)-(IV}, (C)-(I1T}), (D)-(T)
(2)  (A)-(ID), (B)-(111), (C)-(T), (D)-(IV)
(3)  (A)-(IV), (B)-(), (C)-(1), (D)-(I1T)
(4)  (A)-(IT), (B)-(ILL), (C)-(IV), (D)-(I)

Options :

92090689201. 1
92090689202. 2
92090689203. 3
92090689204. 4

Question Number : 2 Question Id : 92090622571 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List 11

Fill in the correct prepositions in the blanks.

List I List I1
(A) The light switch iz the door. () in
(B) She lives _ bread and eggs. (I[) against
(C) Sunscreen can protect you _ the Sun.  (III) by

(D) He specializes sports photography. (IV) on

Choose the correct answer from the options given below :

(1) (A)-(I1D), (B)-(IV). (C)-(D), (D)-(1D)
(2)  (A)-(IID), (B)-(IV), (C)-(11), (D)-(I)
(3)  (A)-(IV), (B)-(ILD), (C)-{1), (D)-(1L)
(4) (A)-(IT), (B)-(IIL), (C)-(IV), (D)-(D)

Options :

92090689205. 1

92090689206. 2

92090689207. 3
92090689208. 4

Question Number : 2 Question Id : 92090622571 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11

Fill in the correct prepositions in the blanks.

List I List I1
(A) The light switchis __ the door. () in
(B) She lives _ bread and eggs. (I[) against
(C) Sunscreen can protect you _ the Sun.  (III) by

(D) He specializes sports photography. (IV) on

Choose the correct answer from the options given below :
(1) (A)-(I1D), (B)-(IV). (C)-(D), (D)-(1D)
(2)  (A)(ILD), (B)-(IV), (C)-(1D), (D)-(I)
(3) (A)-(IV). (B)-(I1D), (C)~(T), (D)~(IL)
(4) (A)-(I1), (B)-(IIL), (C)-(IV), (D)-(I)

Options :



92090689205. 1
92090689206. 2
92090689207. 3
92090689208. 4

Question Number : 3 Question Id : 92090622572 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Out of the following options, select the word that is correctly spelt:-

(1) COMRADERIE (2) CAMARADERIE
(3) CAMEREDERIE (1) CAMAREDERIE
Options :

92090689209. 1
92090689210. 2
92090689211. 3
92090689212. 4

Question Number : 3 Question Id : 92090622572 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Out of the following options, select the word that is correctly spelt:-

(1) COMRADERIE (2) CAMARADERIE
(3) CAMEREDERIE (1) CAMAREDERIE
Options :

92090689209. 1
92090689210. 2
92090689211. 3
92090689212. 4

Question Number : 4 Question Id : 92090622573 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Out of the following options, select the word that is correctly spelt:-

(1) SACRILIGIOUS (2) SACRILIGIOUSE
(3) SACRILEGIOUS (4) SACRIELEGIOUS
Options :

92090689213. 1
92090689214. 2
92090689215. 3
92090689216. 4

Question Number : 4 Question Id : 92090622573 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Out of the following options, select the word that is correctly spelt:-

(1) SACRILIGIOUS (2) SACRILIGIOUSE
(3 SACRILEGIOUS (4) SACRIELEGIOUS
Options :

92090689213. 1
92090689214. 2
92090689215. 3
92090689216. 4

Question Number : 5 Question Id : 92090622574 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Rearrange the following sentences to make a meaningful paragraph:

(A) More than a million coastal residents have already migrated North.

(B) The Sundarbans spans nearly 4000 square miles of India and Bangladesh
along the Bay of Bengal.

(C)  For the 7.5 million people who live in the region, the forest is a natural barrier
against tides and cyclones.

(D) The world's largest continuos Mangrove forest, it's home to a wide variety of
species.

(E) But as people cut trees and rising seas bring saline waters, the forest and the
land itself are shrinking

Choose the correct option :

(1)  (A), (), (D), (B). (E)
(2) (B, (), D), (A, (E)
(3) (D), (C), (B), (E), (A)
(4)  (B). (D), (C), (E), (A)

Options :

92090689217. 1
92090689218. 2
92090689219. 3
92090689220. 4

Question Number : 5 Question Id : 92090622574 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Rearrange the following sentences to make a meaningful paragraph:

(A) More than a million coastal residents have already migrated North.

(B) The Sundarbans spans nearly 4000 square miles of India and Bangladesh
along the Bay of Bengal.

(C)  For the 7.5 million people who live in the region, the forest is a natural barrier
against tides and cyclones.

(D) The world's largest continuos Mangrove forest, it's home to a wide variety of
species.

(E) But as people cut trees and rising seas bring saline waters, the forest and the
land itself are shrinking

Choose the correct option :

(1)  (A), (), (D), (B). (E)
(2) (B, (), D), (A, (E)
(3) (D), (C), (B), (E), (A)
(4)  (B). (D), (C), (E), (A)

Options :

92090689217. 1
92090689218. 2
92090689219. 3
92090689220. 4

Question Number : 6 Question Id : 92090622575 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Rearrange the following sentences to make a meaningful paragraph:

(A)
(B)
(C)

(D)

Instead, they have found a greater sense of agency and empowerment. as they
use fashion to express their identity and styvle.

Consumers are no longer content with simply following trends or buying into
fast fashion.

Since the consumer has become more conscientious, a quiet but impactful
revolution has been brought about in the industry. thus heralding change.

Presently, fashion's ever-oscillating pendulum has swung in the direction of
purpose driven decisions.

Choose the correct options :

(1)
(2)
(3)
(4)

(C). (B), (A), (D)
(D), (A), (B), (C)
(D). (B), (A), (C)
(C), (A), (D), (B)

Options :

92090689221. 1
92090689222. 2
92090689223. 3
92090689224. 4

Question Number : 6 Question Id : 92090622575 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Rearrange the following sentences to make a meaningful paragraph:

(A) Instead, they have found a greater sense of agency and empowerment, as they
use fashion to express their identity and styvle.

(B) Consumers are no longer content with simply following trends or buying into
fast fashion.

(C) Sinece the consumer has become more conscientious, a quiet but impaetful
revolution has been brought about in the industry, thus heralding change.

(D)  Presently, fashion's ever-oscillating pendulum has swung in the direction of
purpose driven decisions.

Choose the correct options :

(1 (O, (B), (A), (D)
(2) (D), W), (B), (C)
(3 (D). (B), (A), (O)
(1) (C), (A), (D), (B)

Options :

92090689221. 1
92090689222. 2
92090689223. 3
92090689224. 4

Question Number : 7 Question Id : 92090622576 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the words / phrases given below the following sentence should replace the
word / phrase given in capitals to make it grammatically correct:

The recent spate of burglaries in addition to the frequent power cuts in Birla
Housing society HAVE MADE the disgruntled residents protest against the
management.

(1) had made (2) has made
(3) made (1) No error
Options :

92090689225. 1
92090689226. 2
92090689227 3
92090689228. 4



Question Number : 7 Question Id : 92090622576 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the words / phrases given below the following sentence should replace the
word / phrase given in capitals to make it grammatically correct:

The recent spate of burglaries in addition to the frequent power cuts in Birla
Housing society HAVE MADE the disgruntled residents protest against the
management.

(1) had made (2) has made
(3) made (1) No error
Options :

92090689225. 1
92090689226. 2
92090689227 3
92090689228. 4

Question Number : 8 Question Id : 92090622577 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One of the first fish we dissected had plastie in its gut. What harm such plastic is
causing has unsettled science. Plastic reduces the appetites and growth rate of fish
that consume it. That could affect reproduction and population size.

Choose the sentence that completes the paragraph:

(1) Flying fish appear to eat plastic especially frequently.

(2) Small changes in the survival of larval fish can translate into large changes in
fish populations.

(3) The larger a female fish is, the more eggs she can carry and the higher
number of offspring she can produce.

(1) We didn’t expect so much plastie, in a fish that was first a quarter inch long.

Options :

92090689229. 1
92090689230. 2
92090689231. 3
92090689232. 4



Question Number : 8 Question Id : 92090622577 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One of the first fish we dissected had plastic in 1ts gut. What harm such plastic is
causing has unsettled science. Plastie reduces the appetites and growth rate of fish
that consume it. That could affect reproduction and population size.

Choose the sentence that completes the paragraph:

(1) Flying fish appear to eat plastic especially frequently.

(2) small changes in the survival of larval fish can translate into large changes in
fish populations.

(3) The larger a female fish 1s, the more eggs she can carry and the higher
number of offspring she can produce.

(49) We didn't expect so much plastic, in a fish that was first a quarter inch long.

Options :

92090689229. 1
92090689230. 2
92090689231. 3
92090689232. 4

Question Number : 9 Question Id : 92090622578 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A part of the sentence given below is underlined.

Choose the correct alternative to improve underlined part of the sentence.

He seemed very confident and responsible about his work and could make
independent decisions. So, | left him with his own devices.

(1) left him in his own devices. (2) left him to his own devices.
(3)  left him on his own devices. (4) left him with his own devices.
Options :

92090689233. 1
92090689234. 2
92090689235. 3
92090689236. 4

Question Number : 9 Question Id : 92090622578 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A part of the sentence given below is underlined.

Choose the correct alternative to improve underlined part of the sentence.

He seemed wvery confident and responsible about his work and could make
independent decisions. So. I left him with his own devices.

(1) left him in his own devices. (2) left him to his own devices.
(3) left him on his own devices. (4) left him with his own devices.
Options :

92090689233. 1
92090689234. 2
92090689235. 3
92090689236. 4

Question Number : 10 Question Id : 92090622579 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match the words in List [ with their meanings in list [1

List 1 List IT
(A) debase {(I) contracted
(B) analogy {(II) notion
() foreshortened (II1) degrade
(D) conception (IV) correlation

Choose the correct answer from the options given below :

(1) (A)-(V), (B)-(ID), (C)-(ILD), (D)-(1)
(2)  (A)-(I), (B)-(IV), (C)-(I), (D)-(I1)
(3) (A, (B)-(IV), (C)-(I1), (D)-(1)
(4) (A1), (B)-(IID), (C)-(IV), (D)-(D)

Options :

92090689237. 1
92090689238. 2
92090689239. 3
92090689240. 4

Question Number : 10 Question Id : 92090622579 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match the words in list I with their meanings in list 11

List 1 List 1T
(A) debase (Il contracted
(B) analogy (II) notion
(C) foreshortened (III) degrade
(D} conception (IV) correlation

Choose the correct answer from the options given below :

(1)  (A)-(IV), (B)-(IT), (C)-(11D), (D)~(I)
(2)  (A)-(II), (B)-(IV), (C)-(1), (D)-(LI)
(3)  (A)-(I), (B)-(IV), (C)-(11), (D)-(I)
(4)  (A)-(II), (B)-(II), (C}-(IV), (D)-(I)

Options :

92090689237. 1

92090689238. 2

92090689239. 3
92090689240. 4

Sub-Section Number : 2
Sub-Section Id : 920906722
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 92090622580 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (11 to 14)
Question Label : Comprehension



Read the passage and answer the next five question by choosing the correct option:

Dealing with teenage offspring can be exasperating, because they come up with the
darndest questions: “Why should I be good when being bad appears to be more beneficial™?

One must then attempt to untangle deep issues of history, philosophy and evolutionary
biology, in order to answer that guestion convincingly and correctly. In today's world of

power-crazy the hillionaires and an over-supply of despots. can one even fault the voungster
for asking?

Thankfully. science has shown, over and over, that in the long run, it is more beneficial
for the individual to be good. One such batch of studies comes to us from Daher Keltner, a
professor of psychologv at university of California. Berkelev, and founder-director of the
Greater Good Science Center, founded in 2001. For decades, he and his team of researcher’s
have been studving are origins and evolution of good in human beings. In one such project,
they studied the brains of people who engaged in acts of altruism, and discovered that such
acts activate the same circuits that respond to receiving a gift. Evidence collected over years
also has it that people who engage in acts of altruism live longer.

Keltner distils some of these findings in his book, Born to be Good (2009), which [ am
hoping my young ones can take time away from their Reels in order to read.

The whys are not all clear yet. But other contemporary studies support the Center's
findings. Humans do good because it makes them feel good.

Where does the desire to do good come from? It is an evolved trait. Altruism is the
willingness to do something that confers an advantage on others, even if the outcome may
result in a disadvantage for oneself.

There iz a school of thought that argues that all altruism is really self-interest in
disguise. The writer and philosopher Ayn Rand believed that any behaviour that benefits
others is ultimately motivated by a desire for personal gain, whether material, emotional or
psvchological. The evolutionary biologistiour was ultimately motivated by the desire to pass
on ones genes. Since this meant that humans had to (and have to) sometimes simulate
altruism, that is what we learnt to do.

These arguments fail to explain genuine altruism. Why do whistle-blowers expose
corruption at great personal cost? Or protesters fight for a cause when it can, and often does,
cost them vears or more behind bars?

Perhaps one of the most compelling arguments against Rand and Dawkins emerges from
the pages of Matt Ridley's the Origins of Virtue (1996). While Ridley concedes that self-
interest 18 a strong motivator, he belives that individuals figured out early on that it felt
better to cooperate. and vielded better results for the group. And so it is that we evolved to
be kind. empathetic, even selfless.

How do we know that this was an 3evolution? Because many anthropologists date
civilization not to the first settlements or agriculture or art, but to the first healed femur. At
some point, prehistoric humans decided they would no longer leave the seriously wounded
behind. They would find the time and resources to care for them, even though there was no
material benefit involved. In Ridley calls this “reciprocal altruism”.

In this form of cooperation, individuals help each other with the expectation that the
favour will be returned. if needed. From that idea, we can trace the evolution of ideas of
community, and wider social progress. It iz the foundation on which cultures and even
economic frameworks continue to be built.

For the voung ones who believe “good” is the old way and doing what suits on best is the
need of today. I would argue that is not adapting, it's succumbing to a series of short-term
goals guaranteed to provide dwindling levels of satisfaction. It has always been tempting,
and often more immediately beneficial, to be selfish. We would have been a short-lived
species if we'd all sought only to please ourselves.

Sub questions

Question Number : 11 Question Id : 92090622581 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Human beings have made space for altruism in their lives because:

(A) It has been proven that it makes them live longer.

(B) It makes them feel good about themselves.

(C) 1t provides dwindling level of satisfaction.

(D) It is the need of the hour.

(E) It brings satisfaction to pass on good habits to their offsprings.

Choose the correct answer from the options given below :

() (0), (D) & (E) only
(2) (B). (C) & (D) only
(3)  (A), (B) & (E) only
(1) (A, (C) & (E) only

Options :

92090689241. 1
92090689242. 2
92090689243. 3
92090689244. 4

Question Number : 12 Question Id : 92090622582 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose statement that prove that the author advocates Altruism:

(1) Scientific studies indicate, that in the long run, it is more beneficial for the
individual to be good

(2) It has always been tempting and often more immediately beneficial, to the
selfish.

(3) In this form of cooperation, individuals help each other with the expectation
that the favour will be returned.

(4) Selfishness offers dwindling returns, and would have made us a short lived
species.

Options :

92090689245. 1
92090689246. 2
92090689247. 3
92090689248. 4



Question Number : 13 Question Id : 92090622583 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match the statements in List | with the appropriate defining word :

List I List I1
(A) A desire to do good with the expectation (I) Simulated altruism
of favour being returned.

(B) A desire to do good for personal gains (I} Genuine altruism

(C) A desire to do good with the hope to pass  (III) Reciprocal altruism
on genes.

(D) A desire to do good at the cost of self (IV) Selfish altruism
harm.

Choose the correct answer from the options given below:

(1)  (A)-(ID. (B)-(IV), (C)-(D), (D)~(1I)
(2)  (A)-AV), (B)-(I1I), (C)-(ID). (D)-(1)
(3)  (W)-D), B)-(I). (C)-(L), (D)-(IV)
(4 (A)-(D), (B)-(D), (C)-(IV), (D)-(I1)

Options :

92090689249. 1
92090689250. 2
92090689251. 3
92090689252. 4

Question Number : 14 Question Id : 92090622584 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose statements that support the following statement:

“Human beings evolved to be kind, empathic, even selfless.”

(A) Any behaviour that benefits others is ultimately motivated by a desire for
personal gain.

(B) Any behaviour that stems from the expectation that the favour will be
returned helped the community in their social progress.

()  Any behaviour is ultimately motivated by the desire to pass on one's genes.

(D)  Any behaviour that required to cooperate with others, yvielded better results
for the group.

Choose the correct answer from the options given below :

(1) (A & (B) only
(2) (B) & (C) only
(3)  (C) & (D) only
(4)  (B) & (D) only

Options :

92090689253. 1
92090689254. 2
92090689255. 3
92090689256. 4

Question Id : 92090622580 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (11 to 14)
Question Label : Comprehension



Read the passage and answer the next five question by choosing the correct option:

Dealing with teenage offspring can be exasperating, because they come up with the
darndest questions: “Why should I be good when being bad appears to be more beneficial™?

One must then attempt to untangle deep issues of history, philosophy and evolutionary
biology, in order to answer that guestion convincingly and correctly. In today's world of

power-crazy the hillionaires and an over-supply of despots. can one even fault the voungster
for asking?

Thankfully. science has shown, over and over, that in the long run, it is more beneficial
for the individual to be good. One such batch of studies comes to us from Daher Keltner, a
professor of psychologv at university of California. Berkelev, and founder-director of the
Greater Good Science Center, founded in 2001. For decades, he and his team of researcher’s
have been studving are origins and evolution of good in human beings. In one such project,
they studied the brains of people who engaged in acts of altruism, and discovered that such
acts activate the same circuits that respond to receiving a gift. Evidence collected over years
also has it that people who engage in acts of altruism live longer.

Keltner distils some of these findings in his book, Born to be Good (2009), which [ am
hoping my young ones can take time away from their Reels in order to read.

The whys are not all clear yet. But other contemporary studies support the Center's
findings. Humans do good because it makes them feel good.

Where does the desire to do good come from? It is an evolved trait. Altruism is the
willingness to do something that confers an advantage on others, even if the outcome may
result in a disadvantage for oneself.

There iz a school of thought that argues that all altruism is really self-interest in
disguise. The writer and philosopher Ayn Rand believed that any behaviour that benefits
others is ultimately motivated by a desire for personal gain, whether material, emotional or
psvchological. The evolutionary biologistiour was ultimately motivated by the desire to pass
on ones genes. Since this meant that humans had to (and have to) sometimes simulate
altruism, that is what we learnt to do.

These arguments fail to explain genuine altruism. Why do whistle-blowers expose
corruption at great personal cost? Or protesters fight for a cause when it can, and often does,
cost them vears or more behind bars?

Perhaps one of the most compelling arguments against Rand and Dawkins emerges from
the pages of Matt Ridley's the Origins of Virtue (1996). While Ridley concedes that self-
interest 18 a strong motivator, he belives that individuals figured out early on that it felt
better to cooperate. and vielded better results for the group. And so it is that we evolved to
be kind. empathetic, even selfless.

How do we know that this was an 3evolution? Because many anthropologists date
civilization not to the first settlements or agriculture or art, but to the first healed femur. At
some point, prehistoric humans decided they would no longer leave the seriously wounded
behind. They would find the time and resources to care for them, even though there was no
material benefit involved. In Ridley calls this “reciprocal altruism”.

In this form of cooperation, individuals help each other with the expectation that the
favour will be returned. if needed. From that idea, we can trace the evolution of ideas of
community, and wider social progress. It iz the foundation on which cultures and even
economic frameworks continue to be built.

For the voung ones who believe “good” is the old way and doing what suits on best is the
need of today. I would argue that is not adapting, it's succumbing to a series of short-term
goals guaranteed to provide dwindling levels of satisfaction. It has always been tempting,
and often more immediately beneficial, to be selfish. We would have been a short-lived
species if we'd all sought only to please ourselves.

Sub questions

Question Number : 11 Question Id : 92090622581 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Human beings have made space for altruism in their lives because:

(A) It has been proven that it makes them live longer.

(B) It makes them feel good about themselves.

(C) 1t provides dwindling level of satisfaction.

(D) It is the need of the hour.

(E) It brings satisfaction to pass on good habits to their offsprings.

Choose the correct answer from the options given below :

() (0), (D) & (E) only
(2) (B). (C) & (D) only
(3)  (A), (B) & (E) only
(1) (A, (C) & (E) only

Options :

92090689241. 1
92090689242. 2
92090689243. 3
92090689244. 4

Question Number : 12 Question Id : 92090622582 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose statement that prove that the author advocates Altruism:

(1) Scientific studies indicate, that in the long run, it is more beneficial for the
individual to be good

(2) It has always been tempting and often more immediately beneficial, to the
selfish.

(3) In this form of cooperation, individuals help each other with the expectation
that the favour will be returned.

(4) Selfishness offers dwindling returns, and would have made us a short lived
species.

Options :

92090689245. 1
92090689246. 2
92090689247. 3
92090689248. 4



Question Number : 13 Question Id : 92090622583 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match the statements in List | with the appropriate defining word :

List I List I1
(A) A desire to do good with the expectation (I) Simulated altruism
of favour being returned.

(B) A desire to do good for personal gains (I} Genuine altruism

(C) A desire to do good with the hope to pass  (III) Reciprocal altruism
on genes.

(D) A desire to do good at the cost of self (IV) Selfish altruism
harm.

Choose the correct answer from the options given below:

(1)  (A)-(ID. (B)-(IV), (C)-(D), (D)~(1I)
(2)  (A)-AV), (B)-(I1I), (C)-(ID). (D)-(1)
(3)  (W)-D), B)-(I). (C)-(L), (D)-(IV)
(4 (A)-(D), (B)-(D), (C)-(IV), (D)-(I1)

Options :

92090689249. 1
92090689250. 2
92090689251. 3
92090689252. 4

Question Number : 14 Question Id : 92090622584 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose statements that support the following statement:

“Human beings evolved to be kind, empathic, even selfless.”

(A) Any behaviour that benefits others is ultimately motivated by a desire for
personal gain.

(B) Any behaviour that stems from the expectation that the favour will be
returned helped the community in their social progress.

(C)  Any behaviour is ultimately motivated by the desire to pass on one’s genes.

(D}  Any behaviour that required to cooperate with others, yielded better results
for the group.

Choose the correct answer from the options given below :

(1) (A) & (B) only
(2)  (B) & (C)only
(3) (C) & (D) only
(1)  (B) & (D) only
Options :
92090689253. 1
92090689254. 2

92090689255. 3
92090689256. 4

Sub-Section Number : 3
Sub-Section Id : 920906723
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 15 Question Id : 92090622585 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1



Choose the appropriate answer elaborating meaning of ‘Altruism’.

(A)  Principle for living selflessly
(By Charitable
(C) Humanitarian

(DY Impolite and unsocial

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (D) only
(3) (A), (B) and (D) only
(4)  (A), (B) and (C) only
Options :
92090689257. 1
92090689258. 2

92090689259. 3
92090689260. 4

Question Number : 15 Question Id : 92090622585 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the appropriate answer elaborating meaning of ‘Altruism’.

(A)  Principle for living selflessly
(By Charitable
(C) Humanitarian

(D) Impolite and unsocial

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (D) only
(3) (A), (B) and (D)) only
(4) (A), (B) and (C) only
Options :
92090689257. 1
92090689258. 2

92090689259. 3
92090689260. 4



Question Number : 16 Question Id : 92090622586 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the appropriate one word substitute for:-

A position requiring little or no work but giving its holder status or finanecial benefit

(1) Cynosure (2) Sinecure
(3) Honorary (4) Ad hoc
Options :

92090689261. 1
92090689262. 2
92090689263. 3
92090689264. 4

Question Number : 16 Question Id : 92090622586 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the appropriate one word substitute for:-

A position requiring little or no work but giving its holder status or finanecial benefit

(1) Cynosure (2) Sinecure
(3) Honorary (4) Ad hoc
Options :

92090689261. 1
92090689262. 2
92090689263. 3
92090689264. 4

Question Number : 17 Question Id : 92090622587 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



As we embark on a new academic year, we have to put our hand to plough if we have
to make it worthwhile.

While of the following options correctly explains the underlined Idiom:

(1) To take up agricultural farming (2) To take up technical work
(3) To get involved in irrelevant things (1) To take up difficult tasks

Options :

92090689265. 1
92090689266. 2
92090689267. 3
92090689268. 4

Question Number : 17 Question Id : 92090622587 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As we embark on a new academic year, we have to put our hand to plough if we have
to make it worthwhile.

While of the following options correctly explains the underlined Idiom:

(1) To take up agricultural farming  (2) To take up technical work
(3) To get involved in irrelevant things (4) To take up difficult tasks

Options :

92090689265. 1
92090689266. 2
92090689267. 3
92090689268. 4

Question Number : 18 Question Id : 92090622588 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The official at the white House committed a serious faux pas when he violated the
protocol by asking the Japanese ambassador to show his identity.

Which of the following words can replace the underlined word without changing the
meaning of the given sentence:

(1) Furore (2) Embarrassing blunder
(3) Error of indiscipline (4) An illegal action



Options :

92090689269. 1
92090689270. 2
92090689271. 3
92090689272. 4

Question Number : 18 Question Id : 92090622588 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The official at the white House committed a serious faux pas when he violated the
protocol by asking the Japanese ambassador to show his identity.

Which of the following words can replace the underlined word without changing the
meaning of the given sentence:

(1) Furore (2) Embarrassing blunder
(3) Error of indiscipline (4) An illegal action
Options :

92090689269. 1
92090689270. 2
92090689271. 3
92090689272. 4

Question Number : 19 Question Id : 92090622589 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
But for the sagacious decisions taken by the CEO of the company, the company
would have gone bankrupt.

Which of the following words can replace the underlined word without changing the
meaning of the sentence:

(1) Wise (2) Dogmatic
(3) Dubious {(4) Dense
Options :

92090689273. 1
92090689274. 2
92090689275. 3
92090689276. 4



Question Number : 19 Question Id : 92090622589 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

But for the sagacious decisions taken by the CEO of the company, the company
would have gone bankrupt.

Which of the following words can replace the underlined word without changing the
meaning of the sentence:

(1) Wise (2) Dogmatic
(3) Dubious {(4) Dense
Options :

92090689273. 1
92090689274. 2
92090689275. 3
92090689276. 4

Question Number : 20 Question Id : 92090622590 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The actor was forced to run the gauntlet of jeering reporters for having featured in a
tobacco promotion advertisement.

The underlined idiom implies that the actor:

(1) Had to risk losing his life
(2) Had to speak unpleasantly to reporters
(3) Had to =it in judgement over reporters

(1) Had to deal with a number of rude reporters

Options :

92090689277. 1
92090689278. 2
92090689279. 3
92090689280. 4

Question Number : 20 Question Id : 92090622590 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The actor was forced to run the gauntlet of jeering reporters for having featured in a

tobacco promotion advertisement.
The underlined idiom implies that the actor:

(1) Had to risk losing his life
(2) Had to speak unpleasantly to reporters

(3) Had to sit in judgement over reporters

(1) Had to deal with a number of rude reporters

Options :

92090689277. 1
92090689278. 2
92090689279. 3
92090689280. 4

Part B

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear
Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

Question Number : 21 Question Id : 92090622591 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

First Hindi Novel to win International Booker prize is Tomb of sand which 1s English

Translation of ‘Ret Samadh’. written by

920906448
2

Online
Mandatory
80

80

320

Yes

0

1
920906724
Yes

null

(1) Arundhati Roy (2) Rup Kaur
(3)  Geentanjali Shree (4) Kiran Desai



Options :

92090689281. 1
92090689282. 2
92090689283. 3
92090689284. 4

Question Number : 21 Question Id : 92090622591 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RIPTY g REBR Sfia are uH B4l U=y <2 o J37 1 A S 8, ot
A GHIY TSl T fare fFar g ?

(1) Sr&udiI™ (2) EUFAR
3) Tiaiaf gt (4) fopvur s
Options :

92090689281. 1
92090689282. 2
92090689283. 3
92090689284. 4

Question Number : 22 Question Id : 92090622592 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is the first Indian origin British army officer to trek solo to south pole:

(1) Bachendn Pal (2) Harpreet Chandi
(3)  Sangeeta Bahl (1) Jvoti Amge
Options :

92090689285. 1
92090689286. 2
92090689287. 3
92090689288. 4

Question Number : 22 Question Id : 92090622592 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fofifad d 9 &1 4R gd S/ 3FF ifterl g, S oidbd ai&n 4§d R ugdl / ugdl
gt ?

(1) dddl g™ (2) EWid 3l
3) iiidr g8d (4) I 3HE]
Options :

92090689285. 1
92090689286. 2
92090689287. 3
92090689288. 4

Question Number : 23 Question Id : 92090622593 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The empire in India responsible for laying the foundation of Nalanda University?

(1) Nanda empire (2) Mauryan empire
(3) Gupta empire (1) Magadhe empire
Options :

92090689289. 1
92090689290. 2
92090689291. 3
92090689292. 4

Question Number : 23 Question Id : 92090622593 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRd H 59 ey 9 Frear fayfEeneay &1 siur — fRrer @t oy

(1) g 9 (2) | T
(3) T HH (4) BT T
Options :

92090689289. 1
92090689290. 2
92090689291. 3



92090689292. 4

Question Number : 24 Question Id : 92090622594 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

After approval the copies of constitution were photolithographed by:

(1) The Asiatic Society (2) National archives of India
(3) Archaeological survey of India (1) Survey of India
Options :

92090689293. 1
92090689294. 2
92090689295. 3
92090689296. 4

Question Number : 24 Question Id : 92090622594 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3rgHIe & o1g Wiy 1 ufadt 1 Pl 7 3 e R - srymfed e ure

(1) < URmees Jrmet (2) HRd DI AP SHHTEITR
(3)  HRAYE RIad Gd&mu (4) HRAG Fdem
Options :

92090689293. 1
92090689294. 2
92090689295. 3
92090689296. 4

Question Number : 25 Question Id : 92090622595 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

44t Constitutional Amendment Act 1978 deals with:

(1)  Right to freedom (2) Right to speech
(3)  Right to property (4) Right to voting
Options :

92090689297. 1



92090689298. 2
92090689299. 3
92090689300. 4

Question Number : 25 Question Id : 92090622595 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4491 dfgu meE sfafae 1978 forgd defta g2

(1)  aadl &1 AYUSR (2) HTHU] ] TSR
(3) "R P MHiTHR (4) HdeH &1 HEHR
Options :

92090689297. 1
92090689298. 2
92090689299. 3
92090689300. 4

Question Number : 26 Question Id : 92090622596 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In 2005 Arundhati Roy was awarded for which collection of essays that were later
translated into Hindi under the Title “Nyaay ka Ganit”.

(1) The Algebra of Justice (2) The Algebra of finite Justice
(3)  The Algebra of Infinite justice (4) God of small things
Options :

92090689301. 1
92090689302. 2
92090689303. 3
92090689304. 4

Question Number : 26 Question Id : 92090622596 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3r&edl g 1 2005 H &Y ey dug & fow qer faar o1, o | | =g &6
T <fies | gt A srgars fasar

(1) & Udoiel 316 Sy (2) T Udols {1 BISAEe oied
(3) T Udael 3T SABRARE ey (4) TITg 3T W fahy

Options :

92090689301. 1
92090689302. 2
92090689303. 3
92090689304. 4

Question Number : 27 Question Id : 92090622597 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is the first Indian to cross English channel twice?

(1) Arati Saha (2) Mihir Sen
(3)  Bula Choudhry (4) Preethi Srinivasan
Options :

92090689305. 1
92090689306. 2
92090689307. 3
92090689308. 4

Question Number : 27 Question Id : 92090622597 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FofafEd 3 9 o[ S I9a $1 31 9R UR &4 aidl UyH RO 67

(1) 3Rl grel 2 A
(3)  garand (4) Tt difaraa
Options :

92090689305. 1
92090689306. 2
92090689307. 3
92090689308. 4



Question Number : 28 Question Id : 92090622598 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List I1 :

List I (Books) List II (Authors)
(A) Wings of Fire () Annie Besant
(B) Wake up India (IIY A.P.J. Abdul Kalam
(C) Train to Pakistan (ITT) Chetan Bhagat

(D) The three mistakes in my life (IV) Khushwant Singh

Choose the correct answer from the options given below :

(1) (A)-V), (B)-(ID), (C)-(ID), (D)-(I)
(2)  (A)-D, (B)-(D), (C)-(IID), (D)-AV)
(3)  (W)-(D), (B)-(ID), (C)-(IV), (D)-(I1I)
(4)  (W)-(T), (B)-(D), (C)-(IV), (D)-(I1I)

Options :

92090689309. 1
92090689310. 2
92090689311. 3
92090689312. 4

Question Number : 28 Question Id : 92090622598 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl | & 91y gt 1 &1 e ifeg

-l T -l
Ay T e wrar () Ul faae
(B) dd 34 SfEar () TUS. sfegad e
(C) ¢HA ¢ ulfbE () T WITd
) THRFEFIAE  (v) guddRig
GIERE

413 feu e faedi F 9 9l IR &1 994 P

(1)  (A)-(IV), (B)-(ILL), (C)-(1L), (D)-(T)
(2)  (A)-(ID), (B)-(I), (C)-(III), (D)-(IV)
(3)  (A)-(D), (B)-(ID), (C)-(IV), (D)-(11I)
(4) (AL, (B)-(I), (C)-(IV), (D)-(11T)

Options :

92090689309. 1
92090689310. 2
92090689311. 3
92090689312. 4

Question Number : 29 Question Id : 92090622599 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first recipient of Jnanpith award 1s:

(1) G. Shankar Kurup (2) Damoder Mauzo
(3) Nilmani Phookan (1) Krishna Sobti
Options :

92090689313. 1
92090689314. 2
92090689315. 3
92090689316. 4

Question Number : 29 Question Id : 92090622599 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T IR Fauyd i foan mar ur

(1) Sl YR FEY (2) SRR A=
(3) Al uHa (4) FT Hled
Options :

92090689313. 1
92090689314. 2
92090689315. 3
92090689316. 4

Question Number : 30 Question Id : 92090622600 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The G20 or Group of 20 1s an inter governmental forum comprising 19 countries and
European Union. It works mainly to address

(1) International financial stability
(2) Terrorism and territorial disputes
(3) Peace Prosperity and stability

{4) Common interests and to cooperate on international forums

Options :

92090689317. 1
92090689318. 2
92090689319. 3
92090689320. 4

Question Number : 30 Question Id : 92090622600 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sil-20 A1 YU 31 20 UF SR-IWHRI #d g, s 19 3 iR gAg= gf-e afEid g
Tg gETa: fg W e 3 82

(1) Sl faxia wifda

(2) Sdarg 3R I — iy fare eReRaa fewues)
(3) wifa, 99ig ok =il

(4) WA fRd SR AP el R yed

Options :

92090689317. 1
92090689318. 2
92090689319. 3
92090689320. 4

Question Number : 31 Question Id : 92090622601 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to 2011 census, the only Indian state that had decline in population
compared to 2001 census is:

(1) Nagaland (2) Manipur
(3) Kerala (1) Sikkim
Options :

92090689321. 1
92090689322. 2
92090689323. 3
92090689324. 4

Question Number : 31 Question Id : 92090622601 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2011 & SFIUFT & SR HRA &1 98 UHHE A9 DI &, D 2001 & SHI0UAT $
qa # SEe § RGeS 87

(1) RIS (2) WO
(3) @@ 4) fafden

Options :



92090689321. 1
92090689322. 2
92090689323. 3
92090689324. 4

Question Number : 32 Question Id : 92090622602 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The only gland in the human body that can regenerate it self if part of it 158 removed
15 called:

(1) Adrenal (2) Thyrmd
(3) Liver (1) Pancreas
Options :

92090689325. 1
92090689326. 2
92090689327. 3
92090689328. 4

Question Number : 32 Question Id : 92090622602 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HHd IRR ® 39 USHHE U &1 71 $81 9] &, fodd U 41 &1 g2 R 98 39 &I
Uil (9: I= 8 B Tl 57

(1) siftges Efgaa) (2) AU (UT5TS)
(3) TFd @R (4) TE (OfHUE)
Options :

92090689325. 1
92090689326. 2
92090689327. 3
92090689328. 4

Question Number : 33 Question Id : 92090622603 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Wilted flower revive in fresh water, plants can absorb water from the soil. These are
examples of which phenomenon:

(1) Surface Tension (2) Capillary action
(3)  Viscosity (1) Osmosis
Options :

92090689329. 1
92090689330. 2
92090689331. 3
92090689332. 4

Question Number : 33 Question Id : 92090622603 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIAU Bl drell Sl # Yeiiiad gid € Uey Hal ¥ ofd 9 9&d ¢ 3 fy uRgen &
JaATE § ?

(1) Y58 —aHMd (9hY ¢3F) (2) S foban
(3) SO (sl (4)  OITEIOT (S{EHEITREE)
Options :

92090689329. 1
92090689330. 2
92090689331. 3
92090689332. 4

Question Number : 34 Question Id : 92090622604 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List I1 :

List I List I1
(A) World's first space station () Pioneer 10
(B) First Satellite launched by America. (II) Salyut 1
(C) First spaceeraft to fly-past mars (I1I) Explorer 1

(D) First spacecraft to fly-past Jupiter (IV) Mariner 4

Choose the correct answer from the options given below :

(1) (A)-(11), (B)-(11D), (C)-(IV), (D)-(I)
(2)  (A)-(ID), (B)-(1), (C)-(IV), (D)-(I)
(3)  (A)-(D), (B)-(IID), (C)-(I), (D)-(IV)
(4)  (A)-(IV), (B)-(I11), (C)-(1I), (D)-(I)

Options :

92090689333. 1
92090689334. 2
92090689335. 3
92090689336. 4

Question Number : 34 Question Id : 92090622604 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



G | & Wy g 1 1 fraE i

- gl -l
(a) Ty &1 uyH Siaie wIH () UEIEER 10
(B) SMHNT gRI Y& 3UUs (i) HGE 1
(C) WA HIRNISHHETE@ () TR 1

TUH Sidaftes

(D) QSHA YA @ gyH A& aE  (1v) AR 4

Hid 3 7t fadedl # ¥ "l 3R &1 99+ Hifeie:

(1) (A)-D), (B)-(I), (C)-(IV), (D))
(2)  (A)-(ID), (B)-(IL), (C)-(IV), (D)-(I)
(3)  (A)-(ID), (B)-(I1L), (C)-(I), (D)-(IV)
(4)  (A)(IV), (B)-(ILI), (C)-(I), (D)-(D)

Options :

92090689333. 1
92090689334. 2
92090689335. 3
92090689336. 4

Question Number : 35 Question Id : 92090622605 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The NATO headquarters are situated on which city of Europe?

(1) London {(2) Paris
(3) Brussels {4) Switzerland
Options :

92090689337. 1
92090689338. 2
92090689339. 3
92090689340. 4

Question Number : 35 Question Id : 92090622605 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

A1E] (NATO) &1 HBITad 319 & g wree o fRyd &7

(1) oA (2) GR™
(3) go (4) fReords
Options :

92090689337. 1
92090689338. 2
92090689339. 3
92090689340. 4

Question Number : 36 Question Id : 92090622606 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Nephology 1s a branch of meterology that deals with the study in the atmosphere.

(1) Water vapours (2) Pollutants
(3) Clouds (1) Germs
Options :

92090689341. 1
92090689342. 2
92090689343. 3
92090689344. 4

Question Number : 36 Question Id : 92090622606 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

NufayF Hrey-fagE 1 te IEr g, & agded § e ey 8 wEitd 82

(1) EREILE (2) UgHd
3) @ (4) e G7)
Options :

92090689341. 1
92090689342. 2
92090689343. 3
92090689344. 4



Question Number : 37 Question Id : 92090622607 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List | with List I1 :

List 1 List 11

(A) Vishakhapatnam Port (I) Is a natural harbour situated at the head of
queen of Arabian sea

(B) Paradwip Port (II) Is a land locked harbour

() Kandla Port (III) Has deepest harbour and is situated in
Mahanadi delta

(D) Kochchi Port (IV) Situated at the head of Gulf of Kuchchh

Choose the correct answer from the options given below :

(2) (WD), (B)-(ID), (C)-(IV), (D)-(I)
(3 (A)-ID), (B)-(HD). (O)-(IV). (D)-(I)
(4)  (A)-(ID, (B)-(I11), (C)-(1), (D)-(IV)

Options :

92090689345. 1
92090689346. 2
92090689347. 3
92090689348. 4

Question Number : 37 Question Id : 92090622607 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl | & Ay g | BT e Sifo

-1 gt
A) fagrEmETy () TP UIHad Uiyl 8, ol 3" 9 &1
FHE AR RG R
(B) URIGY daume () TP Y-3fEs Ui g |
(C) ied de3E (1) SifEEdH e UlaIyd g SR HeHal
Er g AR g
(D) HifEA daTe V) FE DI TS S AN RATE |

At feu e fdeedl # 9 9l IR &1 994 B

(1) (A)-(IV), (B)-(D), (C)-(IL), (D)-(ILI)
(2)  (W)-dID, (B)-(D), (C)-(IV), (D)-D)
(3)  (A)-(D), (B)-(IID), (C)-(IV), (D)-(D)
(4)  (Q)-(ID), (B)-(11I), (C)-(D), (D)-(IV)

Options :

92090689345. 1
92090689346. 2
92090689347. 3
92090689348. 4

Question Number : 38 Question Id : 92090622608 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List [ with List 11 :

List 1 List II
(A) Speedy increase in the milk production (I} Green Revolution
(B) Increase in oil-seeds production (IT) White Revolution
(C) Increase in the fish production {II1) Yellow Revolution

(D) Increase in agricultural production by (IV) Blue Revolution
use of technology

Choose the correct answer from the options given below :

(1) (A)-(IV), (B)-(I1D), (C)-(IL), (D)-(D)
(2)  (A)-(D), (B)-(I1D), (C)-(IV), (D)-(I)
(3) (A1), (B)«(ID), (C)-(IV), (D)-(D)
(4)  (A)-(II), (B)-(IIL), (C)-(I), (D)-(IV)

Options :

92090689349. 1
92090689350. 2
92090689351. 3
92090689352. 4

Question Number : 38 Question Id : 92090622608 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Al | & 91y = 1 BT e Sifse

- Tt -l
(A) T IdTed # ool 9 gfs () e wila
B) faeres Iaea i afs Iy %d wifd
(© wod Jaed J gfs iy daHifa
(D) WINPT & IUGH gRI (v) el ifg
2 L A | e |

413 feu o 9l @ 9 el IR &1 994 P

(1) (A)-(V), (B)-(LIT), (C)-(11), (D)-(1)
(2)  (A)-(ID), (B)-(I1D), (C)-(IV), (D)D)
(3)  (A)-(ID, (B)-(ID), (O)-1V), (D)-(0)
(4)  (A)-aD), (B)-(IID), (C)-(D), (D)-(IV)

Options :

92090689349. 1
92090689350. 2
92090689351. 3
92090689352. 4

Question Number : 39 Question Id : 92090622609 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements ¢

Statement :  Konkan Railway is a 760 km long rail route which connects Roha
in Maharashtra to Mangalore in Karnataka.

Statement 11 :  The state of Maharashtra, Karnataka, Gujrat and Tamil Nadu
are partners in the above undertaking

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement I and Statement I are true
(2) Both Statement I and Statement II are false
(3) Statement | is true but Statement 1[I is false

(4) Statement [ is false but Statement 11 is true

Options :

92090689353. 1
92090689354. 2
92090689355. 3
92090689356. 4

Question Number : 39 Question Id : 92090622609 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R Py RumuE:
HY | : DipUl Yad 760 feHicy da1 U AP B, S HERIP ¥ g1
IR PAled & HIGR aP B SISdl ¢ |

HYF Il - IudH IUHH H HERIY, HACD, ToRId R dHa1g R ¢ |
IR HYA & Il H, A fau e fawedi & 9 |gl SR &1 994 ifoy

(1) BYF R FT

(2) YA AR 1 EHT 3T &

(3) YT U B, AlBT HY Il U 8
(4)  HYF | MUY 8, AP HYF 11 T B

Options :



92090689353. 1
92090689354. 2
92090689355. 3
92090689356. 4

Question Number : 40 Question Id : 92090622610 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most expensive Indian painting sold in 1961 was painted by:

(1) M.F. Hussain (2) S.H. Raja
(3) V.5, Gaitonde (4) Raja Ravi Verma
Options :

92090689357. 1
92090689358. 2
92090689359. 3
92090689360. 4

Question Number : 40 Question Id : 92090622610 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1961 | fae! YT $t Haftie ag ufen =1 feous g o ur

(1) UH U, g4 (2) TH UL I
(3) ooy T (4) Tl IS ani
Options :

92090689357. 1
92090689358. 2
92090689359. 3
92090689360. 4

Question Number : 41 Question Id : 92090622611 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Japan's former longest serving prime minister who was shot dead while giving a
compaign speech. His name was

(1) Yoshihide Suga (2) Fumio Kshida
(3 Shinzo Abe {(4) Naruhito
Options :

92090689361. 1
92090689362. 2
92090689363. 3
92090689364. 4

Question Number : 41 Question Id : 92090622611 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g H He @ UG d% YarE I8 U HEAl @1 a9 el AR o 1 &1 &1 T, o 98
Ueh A HTHAH H HIN0) & T8 & | 7ehT & A1H UT?

(1) AR gm (2) wHe fEen
(3) TR 3E (4) ArEfedl
Options :

92090689361. 1
92090689362. 2
92090689363. 3
92090689364. 4

Question Number : 42 Question Id : 92090622612 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who received the latest 57t Jnanpith Award in 2022,

(1) Krishna Sabti (2) Damodar Mauzo
(3) Mulk Raj Anand (1) Shankar Ghosh
Options :

92090689365. 1
92090689366. 2
92090689367. 3
92090689368. 4



Question Number : 42 Question Id : 92090622612 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafed 7 9 ey 2022 # Fdi7ad 57 af IS REPR UIT g3i1 ur?

(1)  FOIHEd (2) arHIe Hell
(3) Heb I 3G (4) BT UMY
Options :

92090689365. 1
92090689366. 2
92090689367. 3
92090689368. 4

Question Number : 43 Question Id : 92090622613 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

India’s first bullet train will connect which two eities?

(1) Delhi-Agra {2) Delhi-Jaipur
(3) Mumbai-Ahmedabed (1) Mumbai-Pune
Options :

92090689369. 1
92090689370. 2
92090689371. 3
92090689372. 4

Question Number : 43 Question Id : 92090622613 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRd B UYH gaie o [ 3 I8 &1 e
(1) faodt— o (2) el -saR
(3) HES - HSHIEG (4) Heag-qo

Options :



92090689369. 1
92090689370. 2
92090689371. 3
92090689372. 4

Question Number : 44 Question Id : 92090622614 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Golden Quadrilateral’ is a major project taken up by NHAIL It comprises
construction of long 4/6 lane high density traffic corridor which connects

(1) New Delhi with Amritsar (Golden Temple)
(2) iolden temple with four big cities of Punjab
(3) India’s four big metro cities of Delhi-Mumbai-Chennai-Kolkata

(4) India’s four extreme states Jammu and Kashmir, Tamilnadu, Assam
and Gujarat

Options :

92090689373. 1
92090689374. 2
92090689375. 3
92090689376. 4

Question Number : 44 Question Id : 92090622614 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WU AU U WE UREIGH 8, W UL Td. U 315, §R1 YRR @1 71| 399 4/6 @A aral
3= 94 gTa/ld ®IveR &1 [Anfo afffed g, o oAl igar g7

(1) 8 feceft @ srgaeR (vl |ieR) & Ty

(2) vl AR P UeE $ IR 93 U S Y

(3) HRd P IR g3 0l Uedl - el jas-Jas - Sl S

(4) YR P IR G A — o1 Ud FUR, a8, SR SR TR &1
Options :
92090689373. 1
92090689374. 2

92090689375. 3
92090689376. 4



Question Number : 45 Question Id : 92090622615 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is the new youngest President of Chile?

(1) Jose Antanio Kast (2) BSalvador Allende
(3)  Gabriel Borie (4) Olaf Scholz
Options :

92090689377. 1
92090689378. 2
92090689379. 3
92090689380. 4

Question Number : 45 Question Id : 92090622615 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ferefl & e ga1 -1u Apufd H &7

(1) o @ sRe (2) TSR 3cie
(3)  Tifsrge IR (4)  SfIEE Yee
Options :

92090689377. 1
92090689378. 2
92090689379. 3
92090689380. 4

Question Number : 46 Question Id : 92090622616 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many number of layvers are in the open svstem interconnection (OSI) model?

(1 5 (2) 6
(1) 8 (4 7
Options :

92090689381. 1
92090689382. 2
92090689383. 3



92090689384. 4

Question Number : 46 Question Id : 92090622616 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 Ried Sevdaae (3. UY. 318) Aisd | uRd fha- 9= | g7

(15 (&) ©
(3) 8 (4) 7
Options :

92090689381. 1
92090689382. 2
92090689383. 3
92090689384. 4

Question Number : 47 Question Id : 92090622617 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Workbook is a collection of*

(1) Page setup (2) Buttons
(3) Worksheets (4) Charts
Options :

92090689385. 1
92090689386. 2
92090689387. 3
92090689388. 4

Question Number : 47 Question Id : 92090622617 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
adge b1 U TUE 87
(1) O de-3™ (2) ded
() dbdiey (4) TICH



Options :

92090689385. 1
92090689386. 2
92090689387. 3
92090689388. 4

Question Number : 48 Question Id : 92090622618 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The default file format of MS Access 1s:

(1) .doe (2) .ppt
(3) xls (1) .mdb
Options :

92090689389. 1
92090689390. 2
92090689391. 3
92090689392. 4

Question Number : 48 Question Id : 92090622618 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UH, Y. U &1 f3hiae Wisd Hitie Si4l &7

(1) .doc (2) .ppt
(3) xls (4) .mdb
Options :

92090689389. 1
92090689390. 2
92090689391. 3
92090689392. 4

Question Number : 49 Question Id : 92090622619 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The data-storage capacity of DVD 1s:

(1) 2.5 GB (2) 700 MB
(3) 1.3 GB (40 4.7GB
Options :

92090689393. 1
92090689394. 2
92090689395. 3
92090689396. 4

Question Number : 49 Question Id : 92090622619 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

31 d1. 31 1 321 LRl g b 82

(1) 2.5 GB (2) 700 GB
(3) 13 GB (4) 4.7 GB
Options :

92090689393. 1
92090689394. 2
92090689395. 3
92090689396. 4

Question Number : 50 Question Id : 92090622620 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The contents written in requires continuous power supply to retain it
into the memory.

(1) Read Only Memory (ROM) (2) Random Access Drive (RAM)
(3) Hard Disk Drive (HDD) (4) Pen Drive
Options :

92090689397. 1
92090689398. 2
92090689399. 3
92090689400. 4



Question Number : 50 Question Id : 92090622620 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

§ fafad favgayg &1 @90 @ & fou PRaw feeedt emgfd

IS o

(1) 8 siidl 39 (ROM) (2) YSH URH HARNT (RAM)
(3) TS &% §Isd (HDD) (4) TUTS15d (Pen Drive)
Options :

92090689397. 1
92090689398. 2
92090689399. 3
92090689400. 4

Question Number : 51 Question Id : 92090622621 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The shorteut key used to close a tab 1s:

(1) Ctrl+qg (2) Ctri+k
(3 Ctrl+w () Ctrl+r
Options :

92090689401. 1
92090689402. 2
92090689403. 3
92090689404. 4

Question Number : 51 Question Id : 92090622621 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fohl 29 1 ailel XA W WAN 1 o1 drell Bl Uid-He H1 82

(1) Ctrl+q (2) Ctrl+k
(3) Ctrl+w (4) Ctrl+r
Options :

92090689401. 1
92090689402. 2



92090689403. 3
92090689404. 4

Question Number : 52 Question Id : 92090622622 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following parameters 15 used to measure the performance of super
computer?

(1) GHz (2) MIPS
(3 FLOPS (4) Hz
Options :

92090689405. 1
92090689406. 2
92090689407. 3
92090689408. 4

Question Number : 52 Question Id : 92090622622 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR Fex & Fsres ot a & fee Fafafea # 3 e wmds &1 v g e g2

(1) GHz (2) MIPS
(3) FLOPS (4) H=z
Options :

92090689405. 1
92090689406. 2
92090689407. 3
92090689408. 4

Question Number : 53 Question Id : 92090622623 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Webpages that are linked to form a website share a

(1) Uniform Domain Address (2) Unique Domain Address
(3) Uniform Domain Name (1) Unigque Domain Name
Options :

92090689409. 1
92090689410. 2
92090689411. 3
92090689412. 4

Question Number : 53 Question Id : 92090622623 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U dauge & FAAfu & o fom Iauers &1 sfd:=uifud fara wiran g, 3 &1 91 $3d &2

(1) g% e ugy (2) e SHE TS
(3) gA®BH SEE A1 (4) gHS S A1
Options :

92090689409. 1
92090689410. 2
92090689411. 3
92090689412. 4

Question Number : 54 Question Id : 92090622624 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

MS Word provider the functionality of correction in grammer and spelling of words.
This functionality is known as:

(1) Grammerly (2) Auto Correct
(3)  Spell Check (1) High Fineation
Options :

92090689413. 1
92090689414. 2
92090689415. 3
92090689416. 4



Question Number : 54 Question Id : 92090622624 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TH. U, 98 Tl SiR g+l & YUR & Saieiddl USH Sl ¢] 39 dieidd & bl
TH I ST ST 87

(1) UrHETE (2) el Hiae
(3) WAHED (4) BTS BISHTEE
Options :

92090689413. 1
92090689414. 2
92090689415. 3
92090689416. 4

Question Number : 55 Question Id : 92090622625 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Software that manages and coordinates the entire activities of a computer system 1s
known as:

(1) Utility Software (2) Operating system
(3) System Software (4) Device driver
Options :

92090689417. 1
92090689418. 2
92090689419. 3
92090689420. 4

Question Number : 55 Question Id : 92090622625 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U6 SR & QU FGaM] $1 Jae SR FHE S dd Sied®R @1 g 9 4
ST STl 82

(1) gfefad diteam? (2) STafeT e
(3) e wiwedm (4) fSagy gER
Options :

92090689417. 1
92090689418. 2
92090689419. 3
92090689420. 4

Question Number : 56 Question Id : 92090622626 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

At what time between 9o clock and 100 clock will the hour hand and the minute
hand of a clock be in the same straight line but not together?

(1) 9:15 o'clock (2) 9:16 o'clock
(3) 9:16 % o'clock (4) 9:16 % o'clock
Options :

92090689421. 1
92090689422. 2
92090689423. 3
92090689424. 4

Question Number : 56 Question Id : 92090622626 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 79l 3R 10 991 & o9 60 T9g 931 &1 62 &1 g3 a1 e &1 g3 0@ Wa &1 d gl
I U 1Y 817

(1) 91599 (2) 9:16 9
(3) 9:16 % G| (4) 9:16 % G|
Options :

92090689421. 1



92090689422. 2
92090689423. 3
92090689424. 4

Question Number : 57 Question Id : 92090622627 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What day of the week was on April 15, 19547

(1) Wednesday (2) Thursday
(3) Friday (4) Sunday
Options :

92090689425. 1
92090689426. 2
92090689427. 3
92090689428. 4

Question Number : 57 Question Id : 92090622627 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3T 15, 1954 H UTg &1 S A 91 o7 ur?

(1)  §HaR (2) TEWidaR
(3) YRR 4) EAR
Options :

92090689425. 1
92090689426. 2
92090689427 3
92090689428. 4

Question Number : 58 Question Id : 92090622628 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The average of nine consecutive natural numbers is 25. Find the smallest number.

(1) 20 (2) 21
(3) 22 (4) 24
Options :

92090689429. 1
92090689430. 2
92090689431. 3
92090689432. 4

Question Number : 58 Question Id : 92090622628 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 HHRT Wighd HEI13fl BT Sfi9d 25 8 | a9 BIe] A1 Jid DIl |

(1) 20 2) 21
(3) 22 (4) 24
Options :

92090689429. 1
92090689430. 2
92090689431. 3
92090689432. 4

Question Number : 59 Question Id : 92090622629 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 I 41
.
Slmphf}ﬁ
_+___
g 2 4
1 O
1) — 2) =
{ 6 ) 3
3 12 o =
20

Options :



92090689433. 1
92090689434. 2
92090689435. 3
92090689436. 4

Question Number : 59 Question Id : 92090622629 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- I
—— ————
T 4 5 10
= -
8 2 4
| 6
1 - 2) -
oz & 2
(3) 12 4y 2
20

Options :

92090689433. 1
92090689434. 2
92090689435. 3
92090689436. 4

Question Number : 60 Question Id : 92090622630 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B is three times a old as A. After 5 years the ratio in the ages of A and Bwill be 1 : 2.
After how many yvears from now will the ratio in the ages of A and B become 2: 3 ?

(1) 16 ) 15
(3) 13 (4) 12
Options :

92090689437. 1
92090689438. 2
92090689439. 3
92090689440. 4

Question Number : 60 Question Id : 92090622630 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

B, A ¥ CF AT 421 & | 5 I8 UHTd, A TYUT B 1 3G H SUId 1:2 81 | 3@ ¥ foba auf ugTd
A TYI B &1 3G H 3UTd 2:3 B ST

(1) 16 (2) 15
(3) 13 4) 12
Options :

92090689437. 1
92090689438. 2
92090689439. 3
92090689440. 4

Question Number : 61 Question Id : 92090622631 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The product of two numbers is 4840. If the first number is two fifth of the second
number, then what is the first number?

(1) 110 (2) 38
(3) 14 (1) 154
Options :

92090689441. 1
92090689442. 2
92090689443. 3
92090689444. 4

Question Number : 61 Question Id : 92090622631 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
&1 HE13ff &1 U 4840 © | 3% gl I gudl Te &1 é YT & ol Ugdll S 1 82

(1 110 (2) 38
(3) 44 (4) 154

Options :



92090689441. 1
92090689442. 2
92090689443. 3
92090689444. 4

Question Number : 62 Question Id : 92090622632 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In what time will a 640m long train cross an electric pole if its speed is 96km/h?

(1) 24 see (2) 54 sec
(3) 5.4 sec (4) 12.5 sec
Options :

92090689445. 1
92090689446. 2
92090689447. 3
92090689448. 4

Question Number : 62 Question Id : 92090622632 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

640 m Tl ¢4, 96 km/h B TIid ¥ Fad gU faoiell & th GR & fbdd a9 | UR &
a7

(1) 24 sec (2) 54 sec
(3) 5.4 ser (4) 12.5 sec
Options :

92090689445. 1
92090689446. 2
92090689447 3
92090689448. 4

Question Number : 63 Question Id : 92090622633 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The sum of two numbers 15 40 and their HCF 15 8. How many pairs of numbers
satisfy both the conditions?

(1) 1 (2) 2
(3) 3 (1) 4
Options :

92090689449. 1
92090689450. 2
92090689451. 3
92090689452. 4

Question Number : 63 Question Id : 92090622633 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

<1 TEA131 BT A1 40 § TUT 3I®1 HCF 8 § | U fdva W& g € o f3u gu g1 ufaael
&1 T HI @ ?

(m 1 2) 2
3) 3 (4 4
Options :

92090689449. 1
92090689450. 2
92090689451. 3
92090689452. 4

Question Number : 64 Question Id : 92090622634 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two numbers are 26% and 40% respectively of a third number what percentage is
the first number of the second number?

(1) 60% (2) 65%
(3) 66% (1) 68%
Options :

92090689453. 1
92090689454. 2
92090689455. 3



92090689456. 4

Question Number : 64 Question Id : 92090622634 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&l S|, Rl S B HHRE 26% a4l 40% § | Uedl e el wel @ feaa
Ufo=Ia g ?

(1)  60% (2) 65%
(3) 66% (4) 68%
Options :

92090689453. 1
92090689454. 2
92090689455. 3
92090689456. 4

Question Number : 65 Question Id : 92090622635 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A trader sold an article at a gain of 20% Had he purchased it for 40% more and sold
for T 24 less, he would have incurred a loss of 20%. What is the cost price of the
article?

(1) ¥ 150 (2) T 300
(3) Z 450 (1) T600
Options :

92090689457. 1
92090689458. 2
92090689459. 3
92090689460. 4

Question Number : 65 Question Id : 92090622635 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ud AR A U 9% 20% a4 R o1 | 9l 399 3 40% 3Mitid W @der giar 3R 224
&0 R 941 gial dl 39 20% B 85 aldl | 39 a%q &I o4 Hed 1 87

(1) T150 (2) %300
(3) T 450 (4) T 600
Options :

92090689457. 1
92090689458. 2
92090689459. 3
92090689460. 4

Question Number : 66 Question Id : 92090622636 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Akhilesh and Javed started a business by investing T 50,000 and T 60,000
respectively. Akhilesh being an active partner receives 12.5% of the profit in
addition to his share of profit. How much Akhilesh gets out of a profit of T 83007

(1) T 4,600 (2) T 4.500
(3) T 4,000 (4) 5,100
Options :

92090689461. 1
92090689462. 2
92090689463. 3
92090689464. 4

Question Number : 66 Question Id : 92090622636 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR qUT S1dg A SHH: 350,000 YT 260,000 & Y & HY AUR L by | sifadw
Tihd YRIER 8 & SR 1Y H 30 TR & 91y P a1 I 12.5% fdRe of ran
T | 28,800 & o1y 1 SHfEe fdra=1 U Far g2

(1) T 4600 (2) T4500
(3) T 4000 (4) T 5100
Options :

92090689461. 1



92090689462. 2
92090689463. 3
92090689464. 4

Question Number : 67 Question Id : 92090622637 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A certain sum of money on simple interest amounts to ¥ 1.278 in 3 years and to
¥ 1,593 in 5 % years. Find the rate of interest per annum.

(1) 13% (2) 14%
(3) 15.5% (4) 16%
Options :

92090689465. 1
92090689466. 2
92090689467 3
92090689468. 4

Question Number : 67 Question Id : 92090622637 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Wwﬁlﬂq@wﬁaaﬁﬁwmﬂws% a9 7 21593 g1 9l ¢ | At =1 R
1 BIfor |

3% (2) 14%
5.5% (4) 16%

Options :

92090689465. 1
92090689466. 2
92090689467. 3
92090689468. 4

Question Number : 68 Question Id : 92090622638 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the sum of the fourth proportional of 60, 24, 15 and the mean proportional of
5 and 20.

(1) 47.5 (2) 16
(3) 106 (4) 116
Options :

92090689469. 1
92090689470. 2
92090689471. 3
92090689472. 4

Question Number : 68 Question Id : 92090622638 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

60, 24, 15 &1 IgUTUT 4T 5 3R 20 & AU &1 TP FTd BT |

(1) 47.5 (2) 16
(3) 106 (4) 116
Options :

92090689469. 1
92090689470. 2
92090689471. 3
92090689472. 4

Question Number : 69 Question Id : 92090622639 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Akhil is two times as efficient as Vinod and Kamal i1s three time as efficient as Vinod.
They worked together and received T 5,700 for doing the work. Find the share of
Kamal in the money received.

(1) ¥ 1800 (2) T 1900
(:3) T 2580 (4) %2350
Options :

92090689473. 1
92090689474. 2
92090689475. 3
92090689476. 4



Question Number : 69 Question Id : 92090622639 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 @t el [a-1g &1 &l @1 gl ¢ 9Ul HHA D1 & fag & &Fd &1 aH T & |
3611 Ud WY 1 631 3R &1 & & 15700 UK U | U e-RIf & Sua &1 e

FTd Pifore?

(1) T 1800 (2) ¥1900
(3) T 2580 (4) T 2850
Options :

92090689473. 1
92090689474. 2
92090689475. 3
92090689476. 4

Question Number : 70 Question Id : 92090622640 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pipes A and B can fill a tank in 25 hours and 10 hours respectively. Pipe A was
opened and after half an hour pipe B was also opened. In how much time the tank
got filled?

(1) 7 hours 10 minutes {2) 7 hours 15 minutes
(3) 7 hours 30 minutes (4) 7 hours 45 minutes
Options :

92090689477. 1
92090689478. 2
92090689479. 3
92090689480. 4

Question Number : 70 Question Id : 92090622640 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



urgy A OYT B U Tl &I AT 25 U2 ayl 10 9 H 4R "l ¢ | UISU A &I Tral 747 3R
ISP 1Y ¢ d1g Ursy B Hi Wid &1 715 | o g # ) WS 2

(1) 7€ 10 e (2) 7415 e
(3) 74He30fAEe (4) 7He 45 e
Options :

92090689477 1
92090689478. 2
92090689479. 3
92090689480. 4

Question Number : 71 Question Id : 92090622641 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Three boys A, B and C are running with speeds 40 m/s, 2500 m/minute and 144 km/h
respectively, then

(1) A and C have same speed which is less than the speed of B

(2) Speed of B 1s the highest

(3) Speed of C is more than the speed of B

(1)  All the boys A, B, and C have equal speeds

Choose the correct answer from the options given below :

(1) (A) & (C) Only

(2)  (A) & (B) Only

(3) (D) Only

() (A), (B) & (C) Only

Options :

92090689481. 1
92090689482. 2
92090689483. 3
92090689484. 4

Question Number : 71 Question Id : 92090622641 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i 8% A, B GYUI C SH: 40 m/s, 2500 m/BHE T4 144 km/h B A A W E,
A ATNICH MdRR gl fFepmfaATA

B. B®ITM MftmaH g

C. Cai7fd, @l ia ¥ sftis g

D. W TSHI A, B TUC B i TG &

19 fRu T fasedl # ¥ 9el I &1 99 Hifort :

(1) dd ATYUIC

(2) hdd ATYUTB

(3) &dd D

(4) &9ad A, B, AUIC

Options :

92090689481. 1
92090689482. 2
92090689483. 3
92090689484. 4

Question Number : 72 Question Id : 92090622642 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A man invests some money partly in 8% stock at 105 and partly in 12%., stock at 90).
In what ratio should he invest the money to have equal dividends?

(1) 3:2 (2) 97
(3) T:d {(4) 2:3
Options :

92090689485. 1
92090689486. 2
92090689487. 3
92090689488. 4

Question Number : 72 Question Id : 92090622642 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ueh Al Y=RIR BT FS oY 8% Vi 105 W U1 S 2 12% wid 90 W 3% a1 g
I 4RI &1 g ofgurd | Fafg S 91fev e 39 arer arqiw fa?

(1) 3:2 (2} 87
(3) T4 (4) 2:3
Options :

92090689485. 1
92090689486. 2
92090689487. 3
92090689488. 4

Question Number : 73 Question Id : 92090622643 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A dealer marked an item with cost price Re.600 at 50% above the cost price and
offered 20% discount. Find the selling price.

(1) Rs.480 (2) Rs.600
(3 Rs.720 (4) Rs.800
Options :

92090689489. 1
92090689490. 2
92090689491. 3
92090689492. 4

Question Number : 73 Question Id : 92090622643 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U faghdl U a¥g o1 %8 4l 2 600 & &1 $0 Jed ¥ 50% 3@ W 3ifdsd &l g 3R
20% w51 &l 8| fashy geg 71d Sifed|

(1) T 480 (2) T 600
(3) 3720 (1) T 800
Options :

92090689489. 1
92090689490. 2



92090689491. 3
92090689492. 4

Question Number : 74 Question Id : 92090622644 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the figure, ZAOC = 42" and PQ 15 perpendicular to CD. Find the value of x.
A D

C B

(1) 158 (2) 138
(3 132 (1) 118
Options :

92090689493. 1
92090689494. 2
92090689495. 3
92090689496. 4

Question Number : 74 Question Id : 92090622644 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hpid B, ~AOC = 42° QYT PQ, CD R & g | » o1 HH Fid Hifory |

A D

c B

(1) 158 (2) 138
(3) 132 (4) 118
Options :

92090689493. 1



92090689494. 2
92090689495. 3
92090689496. 4

Question Number : 75 Question Id : 92090622645 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2
The value of w % (l ~sin” 4’?] 15
1+cot™ @
1 1
(1) . 2) .
goe” cosec &
(3) tan> @ {4} cot” 0

Options :

92090689497. 1
92090689498. 2
92090689499. 3
92090689500. 4

Question Number : 75 Question Id : 92090622645 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2
1+tan 0 (1-sinZ0) STHAAE
1+cot™ @
| 1
(1) 5 B ——-
sec” # cosec d
(3) tan®® (4) cot®@
Options :

92090689497. 1
92090689498. 2
92090689499. 3
92090689500. 4

Question Number : 76 Question Id : 92090622646 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

fA={23.6land B=1{2 3, 4,5, 6} are two sets, then

(A) AcB (B) AUB=B
(C) AnB=¢ (D) AnB=A

Choose the correct answer from the options given below :

(1)  (A) & (B) Only
(2) (B) & (C) Only
(3) (A, (B) & (D) Only
(4)  (B) & (D) Only

Options :

92090689501. 1
92090689502. 2
92090689503. 3
92090689504. 4

Question Number : 76 Question Id : 92090622646 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfg A={2,36)dY B=1{234506} 3 Gg=U§

{A) Ac B (B) AuB=8B
(C) AnB=¢ (D) AnB=A

Choose the correct answer from the options given below :

(1) dd ATYIB
(2) HAABTAUIC
(3) HAdA BTYUID
(1) HAABTYUID

Options :

92090689501. 1
92090689502. 2
92090689503. 3
92090689504. 4



Question Number : 77 Question Id : 92090622647 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If meanof 7, 2, 9, 4 and K is 5, then find the median of 12, 6, K, 9, 15

(1) 6 (2) 9
(3 10 (49 12
Options :

92090689505. 1
92090689506. 2
92090689507. 3
92090689508. 4

Question Number : 77 Question Id : 92090622647 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

af2 7, 2,9 AU K FTHARE 58, a1 12, 6, K 9, 15 HT AP F1d Hifaiw|

(1 6 2) 9
(3) 10 (4) 12
Options :

92090689505. 1
92090689506. 2
92090689507. 3
92090689508. 4

Question Number : 78 Question Id : 92090622648 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Solution A Contains 12% water and the remaining is milk. Solution B contains 30%
water and the remaining 1s milk. In what ratio should selutions A and B be mixed to
obtain a mixture with 84% milk?

(1)  2:7 (2) 7.2
(3)  3:8 (4) 83

Options :



92090689509. 1
92090689510. 2
92090689511. 3
92090689512. 4

Question Number : 78 Question Id : 92090622648 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hrd A T 12% Ul U1 99 Y 8 | 91d B § 30% U U1 A9 g & | Oid A a1 B &I fhd
3{urd # fordmar Sie & Yo § 84% gy g2

(1) > | (2) T:2
(3) 3:8 (1) &3
Options :

92090689509. 1
92090689510. 2
92090689511. 3
92090689512. 4

Question Number : 79 Question Id : 92090622649 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A quadrilateral ABCD has diagonal AC of length 28 em. If the perpendiculars drawn
from vertices B and D to AC are 30 em and 21 em respectively, then find its area.

(1) 1428 em? (2) 357.5 cm?
(3) 7105 em® (4) 714 em®
Options :

92090689513. 1
92090689514. 2
92090689515. 3
92090689516. 4

Question Number : 79 Question Id : 92090622649 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U dq2iel ABCD & fadul AC &1 TaTs 28 cm ¢ | 4fS ST B 94T D ¥ AC |R STdl U &id
SHHL: 30 cm TYUT1 21 cm B, T SHST &EHd F1d i |

(1) 1428 em* (2) 357.5 em?
(3) 710.5 em* (4) 714 em*
Options :

92090689513. 1
92090689514. 2
92090689515. 3
92090689516. 4

Question Number : 80 Question Id : 92090622650 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A vessel is in the form of a hemispherical bowl surmounted by a hollow eylinder. The
diameter of the sphere 1s 42 ¢em and the height of the vessel 15 27 em. Find its

- . 22
capacity in cm®, (Use 7= -_}[—]l

(1) 18849.6 (2) 56826
(3) 27720 (1) 56286
Options :

92090689517. 1
92090689518. 2
92090689519. 3
92090689520. 4

Question Number : 80 Question Id : 92090622650 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U G0 ©l HSTNATDR HER & DR Bl 8, $ HUR U WiEdl 9o 1 § | Td &1 O™

42 cm & TUT 99 P HAE 27 cm &1 38! 4Rl cm? H F1d BifoU| w:‘z—f)

(1) 18849.6 (2) 56826
(3) 27720 (4) 56286

Options :



92090689517. 1
92090689518. 2
92090689519. 3
92090689520. 4

Question Number : 81 Question Id : 92090622651 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the next term of the given series : 2. 12, 36, 80, 150

(1) 250 (2) 252
(3) 239 (4) 159
Options :

92090689521. 1
92090689522. 2
92090689523. 3
92090689524. 4

Question Number : 81 Question Id : 92090622651 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 &1 71 YRaT FT ST U 1 Do ;

2,12, 36, 80, 150.......

(1) 250 (2) 252

(3) 239 (4) 159
Options :

92090689521. 1
92090689522. 2
92090689523. 3
92090689524. 4

Question Number : 82 Question Id : 92090622652 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In a competition Alka ranks 11 from the top and 27th from the bottom while
Anamika ranks 14t from the top. How many candidates have their names listed
below Anamika’s in that competition’s result?

(1) 25 (2) 29
(3) 26 (49 23
Options :

92090689525. 1
92090689526. 2
92090689527. 3
92090689528. 4

Question Number : 82 Question Id : 92090622652 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U UGIfTar & @] & v 2N | 11 § WM &R A1 I 27 § ™A R &, Fafd st
&1 ¥ 2 F 14 d A R A | 39 ufadifar & oot O sFifiet & R fas Iufieard

FINGEES T |

(1) 25 (2) 29
(3) 26 (1) 23
Options :

92090689525. 1
92090689526. 2
92090689527. 3
92090689528. 4

Question Number : 83 Question Id : 92090622653 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Six friends A, B, C, D, E and F are sitting in a row facing towards North. C is sitting
between A and E . D 15 not at the end. B is sitting immediate right to E. F is not at
the right end. How many persons are there to the right of D?

(1) 2 (2) 3
(3) 1 (4) 4

Options :



92090689529. 1
92090689530. 2
92090689531. 3
92090689532. 4

Question Number : 83 Question Id : 92090622653 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Se A B CDERFIG U ATRRMF IHATE GUE | C, A 3R EF &9 d931
BB |DIHAAE | B EFAAGC AN A IS | FER YA T | Ao F @ A
fdra aafad 82

(1 2 (2) 3
3 1 (4 4
Options :

92090689529. 1
92090689530. 2
92090689531. 3
92090689532. 4

Question Number : 84 Question Id : 92090622654 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bharti travelled 19 km to the East. She turned left and went 15 km. She again
turned left and went 19 km. How far she is from the initial position?

(1) 14 km (2) 15 km
() 19 km (4) 18 km
Options :

92090689533. 1
92090689534. 2
92090689535. 3
92090689536. 4

Question Number : 84 Question Id : 92090622654 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YR IR B 3R 19 &l B g Sl 8 | 98 918 3R g8l & iR 15 [l a& ordl g1
98 UH: 918 3R gadt 8 3R 19 .. 51l 81 3id 98 sRffe wH 3§ fPaii @ &2

(1) 14 fel (2) 15 AL
(3) 19 fHH (4) 18 fopuil.
Options :

92090689533. 1
92090689534. 2
92090689535. 3
92090689536. 4

Question Number : 85 Question Id : 92090622655 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the images A to D 18 next in the sequence (in place of?)?

A A ] O

O A A ] "

] O A A

A ] S A -

A B C D

A ] A ]

] A O A

O A ] A

A O A O

(1) A (2) B
(3) C (4) D

Options :

92090689537. 1
92090689538. 2
92090689539. 3
92090689540. 4

Question Number : 85 Question Id : 92090622655 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

A ¥ D 0% B BI! Bfadl HH | -Tgl 87
A FN ] @

O A A ] g
] O A A

A ] O A

pOLP >
Obpo=
»LIOP o
Opk[o

—~—
—
o

A (2) B
3 C (4) D

Options :

92090689537. 1
92090689538. 2
92090689539. 3
92090689540. 4

Question Number : 86 Question Id : 92090622656 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Study the following five numbers and answer the question given below : 617 425 739
941 892. What will be the first digit of the second highest number after the positions
of only the second and the third digits within each number are interchanged?

(1) 6 (2) 2
(3) 9 (4) 8
Options :

92090689541. 1
92090689542. 2
92090689543. 3
92090689544. 4



Question Number : 86 Question Id : 92090622656 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafafad dsmaf &1 sreqgs i SR - fau U vy &1 Iw e

617 425 739 941 892

Td® e § dad [Gdlg o SR g oie @1 yfadl 1 ReR - 904 & 918 fgdi™
I=aH HEI &1 UYH 3id 1 grm?

(1) 6 (2) 2
3 9 (4 8
Options :

92090689541. 1
92090689542. 2
92090689543. 3
92090689544. 4

Question Number : 87 Question Id : 92090622657 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the related number from the given alternative : 14 : 8:24: 7

(1) 1Z (2) 13
(3) 14 (4) 15
Options :

92090689545. 1
92090689546. 2
92090689547. 3
92090689548. 4

Question Number : 87 Question Id : 92090622657 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



G Y1 J1d SIS
14:8:24:2?

(1) 12 (2) 13
(3) 14 (4) 15

Options :

92090689545. 1
92090689546. 2
92090689547. 3
92090689548. 4

Question Number : 88 Question Id : 92090622658 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a certain code ‘I work hard’ is coded as ‘kom pe seet’, ‘work is worship’ is coded as
‘pun te seet’ and ‘T workship God' is coded as ‘pun pan pe’. What 1s the code of ‘hard™

(1) pe (2) kom
(3) seet (4) pun
Options :

92090689549. 1
92090689550. 2
92090689551. 3
92090689552. 4

Question Number : 88 Question Id : 92090622658 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

17 Hiaug G H 'l work hard FI - kom pe seet’ T ETH Pldg fear T % ‘work is
worship’ @I ‘pun te seet’ & ¥ H Pldx o T § SR 1 workship God &1 ‘pun pan
pe' & ¥Y T Heag (BT 71 g *hard’ T F1 BT 87

(1) pe (2) kom
(3) sepet (4) pun
Options :

92090689549. 1
92090689550. 2



92090689551. 3
92090689552. 4

Question Number : 89 Question Id : 92090622659 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pointing towards Ram, Sita says that he 1s the son of my hushand’s father-in-law's
wife. How is Ram related to Sita?

(1) Brother (2) Brother-in-law
(3) Son (4) Son-in-law
Options :

92090689553. 1
92090689554. 2
92090689555. 3
92090689556. 4

Question Number : 89 Question Id : 92090622659 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I P 3R Hbd S gU Hidl 3 Hgl fb a8 I Ul & Blex-34-dl & Uell &1 T 81 IH
e & $ i 82

(1) g (2) FeR-gA-ql
(3) W (4) -39
Options :

92090689553. 1
92090689554. 2
92090689555. 3
92090689556. 4

Question Number : 90 Question Id : 92090622660 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many persons do not take tea and coffee but take green tea?

/—i\_ ——> Persons who take tea

10 25
20 / 17 {15\ 30 } 40 O —> Persons who take coffee
7 20
20 [ 1 — Persons who take Green tea
(1) 20 (2) 60
(3) 70 (4) 90

Options :

92090689557. 1
92090689558. 2
92090689559. 3
92090689560. 4

Question Number : 90 Question Id : 92090622660 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

/N —> T H EE F 9 e

10 25

20 /17 [15\ 30 | 40 () —> #iwte e w1 a0 o
-\20

20 [ — 4IH € %1 da &3 arl e

fpa =afda =Ty 3R HIH! &1 Uad 98] S &, Afcp U &1 1 Jd9 HId 87

(1) 20 (2) 60
(3) 70 (4) 90
Options :

92090689557 1
92090689558. 2
92090689559. 3
92090689560. 4

Question Number : 91 Question Id : 92090622661 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a certain code, TEACHER 1s written as WHDFKHU. In the same system of
coding, what should be the code for the word STATEMENT?

(1) VWDWHPHQW (2) VWEWHPHQW
(3) WVWDHPHQV (1) VWWDHPQHW
Options :

92090689561. 1
92090689562. 2
92090689563. 3
92090689564. 4

Question Number : 91 Question Id : 92090622661 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U ®fdud @2 § TEACHER & WHDFKHU & &4 ¥ o1 Sl 81 $edgal @ 341
JUITell § Weg — STATEMENT &1 &1 &¢ g1 A1igu?

(1) VWDWHPHQW (2) VWEWHPHQW
(3) WVWDHPHQV (4) VWWDHPQHW
Options :

92090689561. 1
92090689562. 2
92090689563. 3
92090689564. 4

Question Number : 92 Question Id : 92090622662 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Birds : Ornithology : : Fish :

(1) Ichthyology (2) Hermitology
(3) Helminthology (1) Kalology
Options :

92090689565. 1
92090689566. 2



92090689567. 3
92090689568. 4

Question Number : 92 Question Id : 92090622662 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qeft: B GIE| (Ornithology) : : "l

(1 Hel] ﬁm{lchthyulc}gﬂ (2) Eiﬁélﬁuﬁﬂ (Hermitology)
(3) ef@Au@sl (Helminthology) (4) el (Kalology)
Options :

92090689565. 1
92090689566. 2
92090689567. 3
92090689568. 4

Question Number : 93 Question Id : 92090622663 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If § means ‘plus (+). # means ‘minus (-), @ means ‘multiplied (x) and * means
‘divided (=), then the value of 4654@5#72*8 is :

(1)
(3)

n

9 (2) 55
{] (1) 66

tn

Options :

92090689569. 1
92090689570. 2
92090689571. 3
92090689572. 4

Question Number : 93 Question Id : 92090622663 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g § BT 34 AT (+), # BT Y °T (1), @ BT Y A (x) 3R * &1 o AUGH (0 T @
46$4@5#72* 8P HA HT 87

(1) 59 (2) 55
(3) 57 (1) 66
Options :

92090689569. 1
92090689570. 2
92090689571. 3
92090689572. 4

Question Number : 94 Question Id : 92090622664 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Funk : Vitamin : Curie:?

(1) Uranium (2) Radium
(3)  Radioactivity (1) Photography
Options :

92090689573. 1
92090689574. 2
92090689575. 3
92090689576. 4

Question Number : 94 Question Id : 92090622664 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Eﬁzﬁﬂu:ﬁaﬁq::ﬁa@: ?

(1) gEIe (2) sTw
(3) AEgruffar (4) BICHTH!
Options :

92090689573. 1
92090689574. 2
92090689575. 3
92090689576. 4



Question Number : 95 Question Id : 92090622665 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If January 1, 2005 was Monday, what was the day on January 1, 20097

(1) Friday (2) Saturday
(3 Sunday (4) Monday
Options :

92090689577. 1
92090689578. 2
92090689579. 3
92090689580. 4

Question Number : 95 Question Id : 92090622665 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g 1 Fa, 2005 B AHAR 4T A 1 G, 2009 B DHFHT 37 41?2

(1) YepdRR 2) WFAER
(3) @Er (4) HHAR
Options :

92090689577. 1
92090689578. 2
92090689579. 3
92090689580. 4

Question Number : 96 Question Id : 92090622666 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Trace out the Figure which contains fig (x) as its part.

fig (x)
= Wl
Py ~
(1) (2) (3) (4)
() 1 (20 2
(3) 3 (4) 4

Options :

92090689581. 1
92090689582. 2
92090689583. 3
92090689584. 4

Question Number : 96 Question Id : 92090622666 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frofafed & 4 39 siefa &1 gar sy, 5y 38& o & T4 1 o$fd (x) Gifed 82

=

— > —{ﬂ
—— U | o—
= ~

(1) (2) (3) (4)

(1 1 (2) 2

(3 3 (4) 4

Options :



92090689581. 1
92090689582. 2
92090689583. 3
92090689584. 4

Question Number : 97 Question Id : 92090622667 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What will be the next term of the given number series : 0, 2, 5, 7, 14, 26, 47, ?

(1) 83 (2) 85
(3) 87 (1) 89
Options :

92090689585. 1
92090689586. 2
92090689587. 3
92090689588. 4

Question Number : 97 Question Id : 92090622667 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e &t 77 3i@ YT B ST Ue 41 82
0,2,5,7, 14, 26, 47
(1) 83 (2) 85
(3) 87 (1) 89
Options :

92090689585. 1
92090689586. 2
92090689587. 3
92090689588. 4

Question Number : 98 Question Id : 92090622668 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one from the four answer figures should come at the right of the problem
figures to complete the series logically?

0| @ @I{BINK

Problem figures

(1) O

(3)

' [©
>

Options :

92090689589. 1
92090689590. 2
92090689591. 3
92090689592. 4

Question Number : 98 Question Id : 92090622668 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



39 49 &I diftbd ¥ Y qU B & fou Fafafed 7 § St gor-snela, swar-snsid
& 15 SR 3 =fRE?

0|©|0)|®|A\

(1)

©
@ @ @) O

Options :

92090689589. 1
92090689590. 2
92090689591. 3
92090689592. 4

Question Number : 99 Question Id : 92090622669 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which Conclusion follows on the basis of given statement :

Statement :  The ABC Engineering College has started a cell which will conduct
counselling workshops in the field of stress management to students
and faculties.

Conclusions : 1. The college has needed resources to start such activity.

I1. Students and faculties feel a need to have such cell in the college.

(1) If only Conelusion 1 follows
(2) If only Conclusion 11 follows
(3) If both I and II follows

(4) If either I or I follows



Options :

92090689593. 1
92090689594. 2
92090689595. 3
92090689596. 4

Question Number : 99 Question Id : 92090622669 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S Feepy i fu 17U SR WR ureH dT 87

HYF:  ABC Sull-afi dlda 3 UHIg Y [ g, off enfial ok Riee-atf a9
& TG YaeH & & § IR &4 & o Srd=man? i S|

e 1. 39 Slod & U IURIGd HRIGA B B & [T 1 ags g |
frerd | el ofR hhed sl il H 3U WHR & UdHTE B SMavddhdl Hegd &d g |
1. &ad [A=py | Adad g1

2. &ad sy || gl g1

3. s | o 11 ST e B

4. TAspd | SR 11 1 H 9 B3 ot e fAaar 81

Options :

92090689593. 1
92090689594. 2
92090689595. 3
92090689596. 4

Question Number : 100 Question Id : 92090622670 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the Cube which will be formed on folding the question figure:

(")

VAR

() (B) (C) (D)

(1) (A) & (C) Only
(2)  (A) & (B) Only
() (C) & (D) Only
(4)  (B) & (D) Only

Options :

92090689597. 1
92090689598. 2
92090689599. 3
92090689600. 4

Question Number : 100 Question Id : 92090622670 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



faedl & ¥ U9 &1 997 B Sl UY THid B HIgH § Ui gm|

(4)

FHIA A R C
&dd A SR B
&dd C 3R D
&qd B SR D

Options :

92090689597. 1
92090689598. 2
92090689599. 3
92090689600. 4

(X)
(A) (B) (©) (D)



